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Trajectory Data processing Technology Based on
Fault-tolerant Sliding Algorithm

REN Puzhou, HE Hongli
( Measurement Department, Chinese Flight Test Establishment, Xi’an 710089)

Abstract  This paper studies the identification of the outliers in trajectory data processing, and provides a fault—tolerant sliding algorithm, which

is applied to a series of outliers identification. Data processing of flight test indicates that this method is good for the process of measurement with a
series of outliers.
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